
N = 1393
1393 circles in a circle

radius =   0.025030540326
ratio  =  39.951195099278

density  = 0.872753432965
contacts = 3487

 E.SPECHT
06-AUG-2014

N = 1394
1394 circles in a circle

radius =   0.025008689815
ratio  =  39.986101127634

density  = 0.871855785349
contacts = 3193

 E.SPECHT
13-MAY-2014

N = 1395
1395 circles in a circle

radius =   0.024994084526
ratio  =  40.009466998477

density  = 0.871462444503
contacts = 3503

 E.SPECHT
13-MAY-2014

N = 1396
1396 circles in a circle

radius =   0.024991752238
ratio  =  40.013200773926

density  = 0.871924401191
contacts = 3473

 E.SPECHT
13-MAY-2014

N = 1397
1397 circles in a circle

radius =   0.024976673981
ratio  =  40.037356485411

density  = 0.871496437690
contacts = 3300

 E.SPECHT
14-MAY-2014

N = 1398
1398 circles in a circle

radius =   0.024980880641
ratio  =  40.030614387230

density  = 0.872414067856
contacts = 2641

 E.SPECHT
14-MAY-2014

N = 1399
1399 circles in a circle

radius =   0.024969853707
ratio  =  40.048292302952

density  = 0.872267538180
contacts = 3512

 E.SPECHT
14-MAY-2014

N = 1400
1400 circles in a circle

radius =   0.024960022876
ratio  =  40.064065844957

density  = 0.872203838766
contacts = 2787

 E.SPECHT
15-MAY-2014

N = 1401
1401 circles in a circle

radius =   0.024955290645
ratio  =  40.071663128810

density  = 0.872495910164
contacts = 3503

 E.SPECHT
28-APR-2014

N = 1402
1402 circles in a circle

radius =   0.024945673584
ratio  =  40.087111564085

density  = 0.872445856039
contacts = 3498

 E.SPECHT
28-APR-2014

N = 1403
1403 circles in a circle

radius =   0.024934533618
ratio  =  40.105021225916

density  = 0.872288546332
contacts = 3469

 E.SPECHT
28-APR-2014

N = 1404
1404 circles in a circle

radius =   0.024926745397
ratio  =  40.117551813132

density  = 0.872365061071
contacts = 2960

 E.SPECHT
29-APR-2014


